3. Figures to the right indicate full marks.
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3 -What is MACA‘7 2
; What is’ camer sense
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[Time: Three Hours]

Answer any FOUR from the followmg

is responsible for routmg’j £ packet§
Explain Chent-Server communwﬂtmn archltectur,

plaim tgy gwmgsmtable example.
) piaan any one carrier sense protocol.

0 z.;'_i"Answer a.ny FQUR from the followmg
~Examinge c,l;fferent types ‘of ALOHA.

- What is broade Vgatéway protocol (BGP) Explain BGP in brief.

. ' Why do HTTP, FTP,:SMTP, and POP3 run on top of TCP rather than on UDP?
= Cbmpare variops data flow control techniques.

What is c}assful addressmg" Explain difference classes of IP address.
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Q. P. Code: 38764

- [Marks: 80]
Please check whether you have got the right qu@étionipaper ,
N.B.: LS
1. Question number ONE is compulsory J
2. Attempt any THREE questions from question 2to 6.
3. Figures to the right indicate full marks. ‘

Q. L
a)
b)
©)
d)
€)

Q.2a)
Q.2b)

Q.3a)

Q.3b)

Q4w
Q.4b)

Q.5 )
Q.5b)

Q. 6.
a)
b)
¢)
d)
e)

Answer any FOUR from the following o w8

Define Hub, Switch, Router, Bridge and Gatowa_y A

What is ALOHA? Explain different types of ALOHA

Why do HTTP and FTP run on top of TCP rather than on UDP? >
What is classful addressing? Explain difference clasSes of IP address
Examine problems in Application Layer ‘

Compare OSI and TCP network models
Explain Peer-to-Peer Commumcation architecture ‘ o

Create new routing table for .node j ';using’DVR S

Router
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List Variqus sliding windoW‘"pfot;Oool%;fiflixpléfin any one in detail.

Justify that the Go-Back-N protoeol 1s good for network communications.
Examine 2D Panty Code for err‘ detectlon and correction

What is congestion‘7 How 1t can be avoided? Explain

List different protocols used at the boundary of AS. Explain any one of them in detail.

Answer any FOUR frOvathe following

Explain tokén bucket algorithm

What is carr'i‘or sensée? Hence, Differentiate between CSMA/CA & CSMA/CD.
List and explain any two framing methods

“Explain subnetting. Hence, explain how subnet mask is calculated?

Examine the advantages of LAN, WAN and MAN.
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